
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

5703.8 × 0.01 = ________ 4043.2 × 0.01 = ________

5243.1 × 0.01 = ________ 6159.9 × 0.1 = ________

6046.4 × 0.0001 = ________ 9749.5 × 0.1 = ________

8970.7 × 0.001 = ________ 1338.4 × 0.001 = ________

6567.8 × 0.1 = ________ 3835.4 × 0.0001 = ________

9344.4 × 0.1 = ________ 6072.4 × 0.0001 = ________

8344.9 × 0.001 = ________ 3978.8 × 0.1 = ________

2714.8 × 0.1 = ________ 1870.1 × 0.0001 = ________

2466.8 × 0.1 = ________ 9865.8 × 0.01 = ________

9210.7 × 0.01 = ________ 3950.7 × 0.1 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

5703.8 × 0.01 = 57.038 4043.2 × 0.01 = 40.432

5243.1 × 0.01 = 52.431 6159.9 × 0.1 = 615.99

6046.4 × 0.0001 = 0.60464 9749.5 × 0.1 = 974.95

8970.7 × 0.001 = 8.9707 1338.4 × 0.001 = 1.3384

6567.8 × 0.1 = 656.78 3835.4 × 0.0001 = 0.38354

9344.4 × 0.1 = 934.44 6072.4 × 0.0001 = 0.60724

8344.9 × 0.001 = 8.3449 3978.8 × 0.1 = 397.88

2714.8 × 0.1 = 271.48 1870.1 × 0.0001 = 0.18701

2466.8 × 0.1 = 246.68 9865.8 × 0.01 = 98.658

9210.7 × 0.01 = 92.107 3950.7 × 0.1 = 395.07
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